

**LEFT MULTIPLICATIVE GENERALIZED DERIVATIONS ON SEMI PRIME RINGS**

**C. JAYA SUBBA REDDY, S.MALLIKARJUNARAO, T. MAHESH KUMAR**

**Abstract:** Let  $R$  be a ring. A map  $F: R \rightarrow R$  is called a left multiplicative generalized derivation, if  $F(xy) = g(x)y + xF(y)$  is fulfilled for all  $x, y$  in  $R$ , where  $g: R \rightarrow R$  is any map (not necessarily derivation or additive map). The main purpose of this paper is to study the following conditions:

- 1)  $F([x, y]) = \pm(xy \pm yx)$
- 2)  $F(x \circ y) = \pm(xy \pm yx)$
- 3)  $[F(x), y] \pm [x, G(y)] = 0$ , for all  $x, y$  in some appropriate subset of  $R$ .

**Keywords:** Semiprime ring, Derivation, Generalized derivation, Multiplicative generalized derivation, Left multiplicative generalized derivation.

**Introduction:** Daif and Bell in [1] proved that if a semiprime ring  $R$  admits a derivation  $d$  such that either  $d([x, y]) \pm [x, y] = 0$ , for all  $x, y \in R$ , then  $R$  is necessarily commutative. Hongan in [2] generalized the above mentioned result considering  $R$  satisfying the conditions  $d([x, y]) \pm [x, y] = 0$  in  $Z(R)$ , for all  $x, y \in I$ . Later Ali et al [3] explored the commutativity of a prime ring admitting a generalized derivation  $F$  satisfying anyone of the following conditions:

- $F([x, y]) \pm [x, y]$  in  $Z(R)$
- $F(x \circ y) \pm (x \circ y)$  in  $Z(R)$ , for all  $x, y$  in some appropriate subset of  $R$ .

Motivated by the work of Daif and Bell [1] we consider similar condition for the multiplicative generalized derivative on semi-prime ring  $R$ . Ali et al [4] multiplicative generalized derivation  $F$  satisfying the following conditions:

- 1)  $F([x, y]) = \pm(xy \pm yx)$
- 2)  $F(x \circ y) = \pm(xy \pm yx)$
- 3)  $[F(x), y] \pm [x, G(y)] = 0$ , for all  $x, y \in I$ .

In this paper we prove the above conditions by applying the left multiplicative generalized derivations on semiprime rings.

**Preliminaries:** Throughout this paper  $R$  will denote an associative ring with centre  $Z(R)$ . For any  $x, y$  in  $R$  the symbol  $[x, y] = xy - yx$  is called commutator and  $(x \circ y) = xy + yx$  is called anti-commutator. We recall that  $R$  is semiprime if for any  $a$  in  $R$ ,  $aRa = 0$  implies  $a = 0$ . A center  $Z(R)$  is defined as  $Z(R) = \{z \in R \setminus [z, R] = 0\}$ . An additive map  $d: R \rightarrow R$  is called a derivation of  $R$  if  $d(xy) = d(x)y + xd(y)$  for all  $x, y$  in  $R$ . An additive map  $F: R \rightarrow R$  is called a generalized derivation if there exists a derivation  $d: R \rightarrow R$  such that  $F(xy) = F(x)y + xd(y)$  for all  $x, y \in R$ . A map  $F: R \rightarrow R$  (not necessarily additive) is called a multiplicative generalized derivation if  $F(xy) = F(x)y + xd(y)$  for all  $x, y \in R$ , where  $d$  is any map (not necessarily derivation or additive map). A map  $F: R \rightarrow R$  (not necessarily additive) is called left multiplicative generalized derivation if  $F(xy) = d(x)y + xF(y)$  for all  $x, y \in R$ , where  $d$  is any map (not necessarily derivation or additive map).

We use the following basic identities:

$$[xy, z] = x[y, z] + [x, z]y \text{ and}$$

$$[x, yz] = [x, y]z + y[x, z] \text{ for all } x, y, z \in R.$$

$$((xy) \circ z) = x(y \circ z) - [x, z]y = (x \circ z)y + x[y, z] \text{ and}$$

$$(x \circ (yz)) = (x \circ y)z - y[x, z] = y(x \circ z) + [x, y]z.$$

**Main results:**

**Lemma 1:** If  $R$  is a semiprime ring and  $I$  is an ideal of  $R$ , then  $I$  is semiprime ring.

**Theorem 1:** If  $R$  be a semiprime ring, and  $I$  a nonzero ideal of  $R$ . Let  $F: R \rightarrow R$  be a left multiplicative generalized derivation associated with the map  $g: R \rightarrow R$  such that  $F([x, y]) = \pm(xy \pm yx)$  for all  $x, y \in I$ . Then  $[g(x), x] = 0$ , for all  $x \in I$ .

**Proof:** By the assumption we have

$$F([x, y]) = \pm(xy \pm yx) \text{ for all } x, y \in I. \quad (1)$$

We replace  $x$  by  $yx$  in equation (1)

$$\text{we get } F[yx, y] = \pm(yxy \pm yyx)$$

$$F([y, y]x + y[x, y]) = \pm y(xy \pm yx)$$

$$F(y[x, y]) = \pm y(xy \pm yx)$$

$$g(y)[x, y] + yF[x, y] = \pm y(xy \pm yx)$$

From equation (1) we get

$$g(y)[x, y] = 0 \text{ for all } x, y \in I. \quad (2)$$

We replace  $x$  by  $xg(y)$  in equation (2),

we get,

$$g(y)[xg(y), y] = 0$$

$$g(y)([x, y]g(y) + x[g(y), y]) = 0$$

$$g(y)[x, y]g(y) + g(y)x[g(y), y] = 0$$

From equation (2) we get

$$g(y)x[g(y), y] = 0$$

Which is further implies from lemma (1),  $I$  is semiprime ring. We conclude that  $[g(y), y] = 0 \forall y \in I$ .

Hence  $[g(x), x] = 0$  for all  $x \in I$ . ■

**Theorem 2:** If  $R$  be a semiprime ring, and  $I$  a nonzero ideal of  $R$ . Let  $F: R \rightarrow R$  be left multiplicative generalized derivation associated with the map

$$g: R \rightarrow R \text{ such that } F(x \circ y) = \pm(xy \pm yx)$$

for all  $x, y \in I$ . Then  $[g(x), x] = 0$ , for all  $x \in I$ .

**Proof:** By the assumption we have

$$F(x \circ y) = \pm(xy \pm yx), \text{ for all } x, y \in I. \quad (3)$$

We replace  $x$  by  $yx$  in equation (3) we get

$$F(yx \circ y) = \pm(yxy \pm yyx)$$

$$F((y \circ y)x + y(x \circ y)) = \pm y(xy \pm yx)$$

$$F(y(x \circ y)) = \pm y(xy \pm yx)$$

$$g(y)(x \circ y) + yF(x \circ y) = \pm y(xy \pm yx)$$

From equation (3) the above expression we get

$$g(y)(x \circ y) = 0 \text{ for all } x, y \in I. \quad (4)$$

We replace  $x$  by  $xg(y)$  in equation (4), we get,

$$g(y)(xg(y) \circ y) = 0$$

$$g(y)((x \circ y)g(y) + x[g(y), y]) = 0$$

$$g(y)(x \circ y)g(y) + g(y)x[g(y), y] = 0$$

From equation (4) we get

$$g(y)x[g(y), y] = 0 \text{ which further implies that } [g(y), y]x[g(y), y] = 0.$$

Which is further implies from lemma (1),  $I$  is semiprime ring. We conclude that  $[g(y), y] = 0 \forall y \in I$ .

Hence  $[g(x), x] = 0$ , for all  $x \in I$ .

**Theorem 3:** If  $R$  be a semiprime ring and  $I$  a non zero ideal of  $R$ . Let  $F, G : R \rightarrow R$  be left multiplicative generalized derivation associated with the map  $d, g : R \rightarrow R$  such that  $[F(x), y] \pm [x, G(y)] = 0$  for all  $x, y \in I$ . Then  $[d(x), x] = 0$  and  $[g(x), x] = 0$ , for all  $x \in I$ .

**Proof:** i) Assume that

$$[F(x), y] - [x, G(y)] = 0,$$

for all  $x, y \in I$ . (5)

We replace  $y$  by  $xy$  in equation (5) we get

$$[F(x), xy] - [x, G(xy)] = 0 \text{ for all } x, y \in I$$

$$[F(x), x]y + x[F(x), y] - [x, g(x)]y + xG(y) = 0$$

$$[F(x), x]y + x[F(x), y] - [x, g(x)]y - [x, x]G(y) - x[x, G(y)] = 0$$

$$x([F(x), y] - [x, G(y)]) +$$

$$[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0$$

From equation (5) we get

$$[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0 \text{ for all } x, y \in I. (6)$$

We replace  $y$  by  $y$  in equation

$$[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0$$

$$= 0[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0$$

$$- g(x)y[x, g(x)] - [x, g(x)]y = 0$$

$$([F(x), x]y - g(x)[x, y] - [x, g(x)]y)g(x)$$

$$- g(x)y[x, g(x)] = 0. (7)$$

From equation (6) we get

$$g(x)y[x, g(x)] = 0$$

$$\text{Further implies } [x, g(x)]y[x, g(x)] = 0$$

$$\text{From lemma (1), we get } [x, g(x)] = 0.$$

Now we replace  $x$  by  $yx$  in equation (5), we get

$$[F(yx), y] - [yx, G(y)] = 0$$

$$[d(y)x + yF(x), y] - [yx, G(y)] = 0$$

$$d(y)[x, y] + [d(y), y]x + [y, y]F(x) +$$

$$y[F(x), y] - [y, G(y)]x - y[x, G(y)] = 0$$

$$y([F(x), y] - [x, G(y)]) + d(y)[x, y] +$$

$$[d(y), y]x - [y, G(y)]x = 0$$

From (5) we get

$$d(y)[x, y] + [d(y), y]x - [y, G(y)]x = 0$$

$$\text{for all } x, y \in I. (8)$$

We replace  $x$  by  $x dy$  in equation (8) we get

$$d(y)[x dy, y] + [d(y), y]x d(y) - [y, G(y)]x d(y) = 0$$

$$d(y)[x, y]d(y) + d(y)x[d(y), y] +$$

$$[d(y), y]x d(y) - [y, G(y)]x d(y) = 0$$

$$(d(y)[x, y] + [d(y), y]x - [y, G(y)]x)d(y) +$$

$$d(y)x[d(y), y] = 0. (9)$$

From (8) and (9) we get

$$d(y)x[d(y), y] = 0$$

Further implies  $[d(y), y] = 0$  for all  $y \in I$ .

That implies  $[d(x), x] = 0$  for all  $x \in I$ .

ii) Assume that

$$[F(x), y] + [x, G(y)] = 0$$

for all  $x, y \in I$ . (10)

We replace  $y$  by  $xy$  in equation (5) we get

$$[F(x), xy] + [x, G(xy)] = 0$$

for all  $x, y \in I$

$$[F(x), x]y + x[F(x), y] + [x, g(x)]y + xG(y) = 0$$

$$[F(x), x]y + x[F(x), y] + [x, g(x)]y +$$

$$g(x)[x, y] + [x, x]G(y) + x[x, G(y)] = 0$$

$$x([F(x), y] + [x, G(y)]) + [F(x), x]y +$$

$$g(x)[x, y] + [x, g(x)] = 0$$

From equation (1) we get

$$[F(x), x]y + g(x)[x, y] + [x, g(x)]y = 0$$

for all  $x, y \in I$ . (11)

We replace  $y$  by  $y$  in equation (11)

$$[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0$$

$$[F(x), x]y - g(x)[x, y] - [x, g(x)]y = 0$$

$$([F(x), x]y - g(x)[x, y] - [x, g(x)]y)g(x)$$

$$+ g(x)y[x, g(x)] = 0 (12)$$

From equation (11) and equation (12), we get,

$$g(x)y[x, g(x)] = 0$$

$$\text{Further implies } [x, g(x)]y[x, g(x)] = 0$$

From lemma (1), we get  $[x, g(x)] = 0$

Now we replace  $x$  by  $yx$  in equation (5) we get

$$[F(yx), y] + [yx, G(y)] = 0$$

$$[d(y)x + yF(x), y] + [yx, G(y)] = 0$$

$$d(y)[x, y] + [d(y), y]x + [y, y]F(x) +$$

$$y[F(x), y] + [y, G(y)]x +$$

$$y[x, G(y)] = 0$$

$$y([F(x), y] + [x, G(y)]) + d(y)[x, y] +$$

$$[d(y), y]x + [y, G(y)]x = 0$$

$$d(y)[x, y] + [d(y), y]x + [y, G(y)]x = 0$$

for all  $x, y \in I$ . (13)

We replace  $x$  by  $x dy$  in equation (13) we get

$$d(y)[x dy, y] + [d(y), y]x d(y) +$$

$$[y, G(y)]x d(y) = 0$$

$$d(y)[x, y]d(y) + d(y)x[d(y), y] +$$

$$[d(y), y]x d(y) + [y, G(y)]x d(y) = 0$$

$$(d(y)[x, y] + [d(y), y]x +$$

$$[y, G(y)]x)d(y) + d(y)x[d(y), y] = 0. (14)$$

From (13) and (14) we get

$$d(y)x[d(y), y] = 0$$

Further implies  $[d(y), y] = 0$  for all  $y \in I$ .

That implies  $[d(x), x] = 0$  for all  $x \in I$ .

**References:**

1. Daif, M.N., Bell. H.E: Remarks on derivations on semiprime rings Internat.J.Math.Math.Sci, 15(1) 205-206(1992).
2. Hongan.M: A note on semiprime rings with derivations, Internat J.Math.Sci.20,413-415(1997).
3. Ali,A. ,Kumar,D, and Miyan, P:On generalized derivations and commutativity of prime and semiprime rings ,HecettepeJ.Math. Stat. 40(3),367-374(2011).
4. Shakir Ali, Basudeb Dhara Nadeem, Ahamad Dar, Abdul Nadim Khan: On lie ideals with multiplicative (generalized)-derivations in prime and semiprime rings, Beitrageom.(2013).
5. (generalized)-derivations in prime and semiprime rings, Beitrageom.(2013).

\* \* \*

Dr. C. Jaya SubbaReddy /Department of Mathematics/ S.V.University/ Tirupati-517502/  
AndhraPradesh/ India/[cjsreddysvu@gmail.com](mailto:cjsreddysvu@gmail.com)

T. Mahesh Kumar /Department of Mathematics/S.V.University/ Tirupati-  
517502/ AndhraPradesh/ India.

S.Mallikarjuna Rao/Department of Mathematics/ S.V.University/ Tirupati-  
517502,/AndhraPradesh/ India/ [s.mallikarjunarao123@gmail.com](mailto:s.mallikarjunarao123@gmail.com)